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IENE AbE 10. 00| AHxf 120 1,200 1,890| 1,688| 1,620
H X k¥ 15. 00 | ¥ 657 9, 855 972 874 540
X 5D FiE 10. 00 | #H%f 750 7,500| 1,048 688 432
E 9 NAE E B 4. 00| FH%f 32 128  4,320| 4,154 2,030
H % i 3. 00| FHxf 128 384 2,160 1,514 540
i A ] 1L 1. 00| FHxf 260 260 648 551 270
& | sool st 4] 20| 2,160| 1,998 1,944
AN B 5. 00| FH*} 180 900 1, 404 1,239 648
& )| 0.50| #xt| 1,013 o58|  130] 92| 65
g OBO| 0.40|#Exf| 2,520 1,008 151 27| 76
= %O 4. 00| FH%f 487 1,948 1,944 1,635 972
[ I ) 5. 00| FH%S 60 300| 1,674 1,300 864
g OB | s.00 faxt | eo7| 3,035| 1,836 1,484] 756
v—< = 0. 15| FHx} 7,998 1,203 65 60 49
7 b= K AbiEiE 3. 00| FH%f 463 1,389 2,592 2,137 1,728
fEoT & tiEE | 0. 10| AHA 200 20 130 129 119
F o4 | 2.00(dEk| 9o 18] 756 648 432

B = O JE 0. 50| FA%f 70 35 270
H 7% w5 5. 00| FH%f 144 7201 1,728| 1,554 756
RenE AbiEiE 10. 00| AHxf 50 5001 1,728 1,663 1,512

A—0 4 AbiEiE 10. 00 | #H%f 19 190 2, 808
£ # L & 10. 00| AHxf 212 2,120 2,160 1,895| 1,620
L&A £ ¥ 10. 00| FA % 1, 036 10, 360 1, 490 1, 245 972
P=—VLF k¥ 4, 00| FH*} 460 1, 840 1,188 827 648
T ARG F ) 0. 10| FH%F 1, 596 161 216 117 76

Tayal— &k B 4. 00 | FHxF 20 80 2, 268
L xon & A 4. 00 | FHxF 12 48] 3,240 3,078| 3,024
AEMEE (i 0. 10| #H%f | 3,300 330 146 108 59
ZDEH £ B 0. 20| FAxf 720 144 68 47 8
LU £ ¥ 0. 20 [ #Hx} 150 30 81 59 27
AA ha—y £ ¥ 5. 00| FH%} 206 1, 030 1, 620 1, 261 1, 080
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LEY T AU | 17. 00| A%t 2 34 432 378 324
sk Feall 10. 00 | #H%f 530 5,300 4,860| 4,433 3,456
B oK w5 10. 00| AHxf 200 2,000 4,968| 4,417 3,240
A — % ] 1L 2. 00| FH%F 64 128 2,700 2,282 1,944
LR o JE 0. 60 | FHxf 72 44 389 299 248
BT .30 #A%t| 1,014 304|259 o19| 130

AvavE 7 4 U E | 13.00| tH%F 110 1,430 8,684 3,706| 2,376




